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Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Total Marks : 50
(Y= mark for each question) Total Questions : 100

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from
1-48 are printed in order in the Question Booklet and ensure that the OMR Answer-Sheet
belongs to him/her only. In case of any discrepancy, immediately inform the Invigilator
to replace your Question Booklet/OMR Answer-Sheet.

IMPORTANT INSTRUCTIONS

Do not open the Question Booklet before 10:00 a.m. in the Examination Hall.

+

4+ Read the questions carefully before marking the right answer with blue/black ballpoint pen only
in the appropriate circle of the OMR Answer-Sheet, as no extra OMR Answer-Sheet will be
provided for any mistake or correction.

4+ There is no negative marking for any wrong answer.

4+ In cases where candidate selects more than one option of a question, the question will not be
evaluated.

4+ In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write his/her
Roll No., Question Booklet Serial No., Question Booklet Code in the space provided in the OMR
Answer-Sheet by shading and by writing in alphabet and numerical on the front page as well as
on the back page. Otherwise the OMR Answer-Sheet will not be evaluated.

4+ Candidates will have to sign twice, once in the Photo Attendance Sheet presented by the Invigilator
on duty after taking their seats in the Examination Hall, and the other, at the time of handing over
their OMR Answer-Sheet to the Invigilator after the completion of the Examination. Cases where a
candidate has not signed while submitting the OMR Answer-Sheet, he/she shall be treated as absent.

+ Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

4+ The candidate should make sure that the Question Booklet No. and corresponding Question
Booklet Code is properly written/shaded in the OMR Answer-Sheet by him/her. For example, in
filling up the Question Booklet Code, if the candidate gets Question Booklet Code ‘A’, then
he/she should fill up ‘A’ in the box provided in the OMR Answer-Sheet and also shade the circle
‘A’ in the OMR Answer-Sheet.

+ Candidate should do all the necessary rough work on the Question Booklet in the space provided.
Rough work should not be done on the OMR Answer-Sheet or on any other paper. If any rough work or
overwriting is done or whitener is used on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

4+ In case of any discrepancy or confusion in the medium/version of the questions, the English
version will be treated as the authentic version.

+ No candidate will be allowed to leave the Examination Centre during the examination hours.

4+ Any candidate found using unfair means including carrying restricted items like mobile phone,

calculator or any electronic gadget or objectionable materials, etc., which are not allowed in the
examination halls/rooms shall be disqualified.
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+ wol Teq AE (HCA AefeF THG A |

+ Tz @ AR 9B AN Ted Zoieet abrets wike fTem i 91, o oFae NG
TR FA =T |
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MIFIFE] TFNF 54, NFIFe] 06 OMR Sedoiqq e oize F'a1 s «fam <
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+ ATYR WY A AFR (FICA TR SIS 20 WA @R SPR =0 RS ARelbeng
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+ ST BOTPS (G RIS “AFICeT el S SRS (e 2 Al |
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1. Choose the correct option to fill in the blank in the following sentence :

“She is than any other girl in the class.”
(A) tall (B) the tallest
(C) more tall (D) taller

2. Choose the correct indirect speech of the following :
She said, “I have finished the work.”

(A) She said that she has finished the work.
(B) She said that she would finish the work.
(C) She said that she finished the work.

(D) She said that she had finished the work.

3. Choose the correct option to fill in the blank in the following sentence :

“l asked him so lazy.”
(A) that is why (B) why he was
(C) that why he is (D) that why is he

4. Choose the correct option to fill in the blank in the following sentence :

“He always claims to be everyone in his company.”
(A) superior than (B) superior to
(C) superiority over (D) All of these

5. Which of the following is incorrect ?

(A) A swarm of monkeys (B) A caravan of camels

(C) A pack of wolves (D) A colony of rats

6. Which of the following words is closest in meaning to the word ‘abundant’?

(A) Scarce (B) Difficult

(C) Barren (D) Ample

cwT-2025/P-11/ 302-D 6 5



The phrase ‘stem the tide’ means
(A) save (B) stop

(C) touch (D) spare

The antonym of the word ‘callous’ is

(A) casual (B) sensitive

(C) soulless (D) strict

Choose the odd word from the following.
(A) Agitated (B) Aggressive

(C) Rowdy (D) Submissive

10. “O my Luve’s like a red, red rose” is an example of a

(A) simile (B) metaphor

(C) metonymy (D) personification
11. What is the meaning of ‘cost an arm and leg’?

(A) Very expensive (B) War damages

(C) Total destruction (D) Medical surgery

12.

Choose the correct option to fill in the blank in the following sentence :

“He was so hungry that he could wait to wash his hands.”
(A) rarely (B) often
(C) seldom (D) hardly

13.

Choose the correct option to fill in the blank in the following sentence :

“Can you tell me the truth?”
(A) why did you not speak (B) that why did you not speak
(C) why did not you speak (D) why you did not speak

EIE
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14. Choose the correct option to fill in the blank in the following sentence :

“The train before we reached the station.”
(A) had left (B) left
(C) has left (D) was going to leave

15. Choose the correct article to fill in the blank in the following sentence :

“He is MA in English.”
(A) a (B) an
(C) the (D) No article is needed

16. Choose the correct question tag to complete the following sentence :

»

“She is going there,
(A) isn’t she? (B) is she?

(C) doesn’t she? (D) isn’t it?

17. Find the incorrectly spelt word.

(A) Conductor (B) Conductance

(C) Condusive (D) Confusing

18. Choose the correct option to fill in the blank in the following sentence :

“When I met Rajat in Mumbai, he teaching English for four years.”
(A) is been (B) has been
(C) have been (D) had been

19. Fill in the blank of the following sentence with correct option :

“Assam has tremendous potential investors in service sector.”
(A) of B) in
(C) at (D) for

20. Choose the correct passive form of the following sentence :
“She is writing a letter.”

(A) A letter is written by her. (B) A letter has been written by her.

(C) A letter is being written by her. (D) A letter is writing by her.
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21.

21.

21.

gt POLICE ¥ QOMIDE f251¢3 o741 23, (9¢8 DACOIT 3 & f25icq foifig arifo
(A) EBDPJU (B) EADTOJ

(C) EADOJT (D) EBDOJT

It POLICE-¢3 (&S 28 QOMIDE, ©(4 DACOIT-¢3 MFS 204
(A) EBDPJU (B) EADTOJ

(C) EADOJT (D) EBDOJT

Sfd POLICE @ QOMIDE % sl BRAMI, 376a1 DACOIT @l 59 & Ssil BIATIAI?
(A) EBDPJU (B) EADTOJ

(C) EADOJT (D) EBDOJT

21. If POLICE is coded as QOMIDE, then DACOIT will be coded as
(A) EBDPJU (B) EADTOJ
(C) EADOJT (D) EBDOJT
22. GF TR PO IFO SS O M RYTS @1 AT & F9 =, (908 FPIC! (e P

3’37

w S| ® |8 © |2 o |

w S| ® |8 ° |2 o |
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22, TMSIH AT forers@t fofy wremmHT grars aFtset, S SR Jramiet S

22.

(A)

If

SS

SS

©)

(D)

is drawn on a transparent sheet and folded on the dotted line, then what would

be the resulting figure?

(A)

S

8

(€)

e

23.

23.

23.

23.

T F 71 10 &S A<S 27 o1 o1 3foq Pree faafer 4 e ©f2 Scem “rgrs weze w0 | @
SRECRIATS FOI T Fiorercs] e Ul (el eifeary e 2

(A) 60° B) 120° (C) 180° (D) 135°

TR Rwier e 10 1R S8 28 @32 [Jwier gibd 7/ [Kle 4 qhaRl @1 Aeead (@FIeo SiRxegd
T | G2 TS T GBI b F© Gl geq 2

(A) 60° (B) 120° (C) 180° (D) 135°

T TpaeT G 10 Fomerma S S At 3 for safaf 4 fimeta amfeam didear| o g
TSTE HUeT ATETEe o9 ferft fifeet?

(A) 60° (B) 120° (C) 180° (D) 135°

Ramya’s school starts at 10 o’clock in the morning, and after school she attends swimming
course at 4 o’clock in the afternoon. By how much degree does the hour hand move during
this time?

(A) 60° (B) 120° (C) 180° (D) 135°
EIE
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24.

24.

24.

24.

ﬂhﬂ@@ﬁaf—ﬁﬁﬁf—ﬂﬁﬁmﬁrﬁmml—Nw?ﬂa@%ﬁm4aﬁﬂ%—wﬁwmw forefa

@ @ @

(A) 1 (B) 3 (€) 6 (D) 5

b [efba ol ffen feea Pa (rew zaacR | o) (A0 qesbiba 4-9q oo 2T F 7R e,
ferefer catl

@ @ @

A) 1 B) 3 C) 6 (D) 5

HIH STEEH FHAT TFH A T Sami M S| SHEE SEa 4 7 3o v w1 i § fagd

LA

(A) (B) 3 (€) 6 (D) 5

Three positions of a dice are given. Find out which number is found opposite to the number
4 in the given dice :

A A

(B) 3 (C) 6 (D) 5

25.

25.

weTS il o A TS SIACRE AR e
ABC : UVW :: DEF :

(A) XYZ (B) MNP (C) POR (D) GHR

e T o T SRl v T
ABC : UVW :: DEF :

(A) XYZ (B) MNP (C) POR (D) GHR

EIE
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25. TEATE F™ HHEHRA ATEr TRSE HhRE! dre 1 G
ABC : UVW :: DEF :

(A) XYZ (B) MNP (C) POR (D) GHR

25. Select the related letters from the following :
ABC : UVW :: DEF :

(A) XYZ (B) MNP (C) POR (D) GHR

26. O&TS A BAERT 291 (@1 AACH! A2 Tlerea :

225 49 121

(A) 4 (B) 21 (C) 20 (D) 5

26. =s Al e Red )l @ @@ waE

225 49 121

A) 4 (B) 21 (C) 20 (D) 5

26. THE ARG TSHEE THEE SASEE g

225 49 121

A) 4 (B) 21 (C) 20 D) 5

26. Select the missing number in the given diagrams :

225 49 121

A) 4 (B) 21 (C) 20 (D) 5
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27.

T *RYEICHI 2GS 912 ToRS FReICH! Rl Tferea
8, 24, 12, ?, 18, 54

A) 18 (B) 36 (C) 46 (D) 38
27. RS §eelbee 2 (?) 2o Tore M4 o (@9 T
8, 24, 12, ?, 18, 54
(A) 18 (B) 36 (C) 46 (D) 38
27. TERE EHF GIEE MaHE SHSEE arr’
8, 24, 12, ?, 18, 54
A) 18 (B) 36 (C) 46 (D) 38
27. In the following series, select the missing number :
8, 24, 12, ?, 18, 54
A) 18 (B) 36 (C) 46 (D) 38
28. IO T S (2 SCE ?
(A) S (B) 4 € 3 (D) 2
28. FORME TP I 2 T ?
A) S (B) 4 € 3 (D) 2
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28.

T el =T g S €7

(A) S (B) 4 € 3 (D) 2
28. How many cubes are unseen?
(A) S (B) 4 € 3 (D) 2
29. TE XL LAEIF 9128 TRE WA [of Ty
99, 102; 51,54; 27,30, ?,?
(A) 12, 15 (B) 15, 18 (C) 10, 13 (D) 18, 21
29. RIS R4 2PICET ZICT TR RSS! {08 (T I
99, 102; 51,54; 27,30, ?,?
(A) 12, 15 (B) 15, 18 (C) 10, 13 (D) 18, 21
29. TEMEE B FINATE HHG! THT SHNE 5 @) 9@
99, 102; 51,54; 27,30, ?,?
(A) 12, 15 (B) 15, 18 (C) 10, 13 (D) 18, 21
29. In the following series, select the related number pair :
99, 102; 51,54; 27,30, ?,?
(A) 12, 15 (B) 15, 18 (C) 10, 13 (D) 18, 21
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30. o fBacaRs Wed wifet foqcht Az Sferea |
IS REVANIGIE
30. i el e forafe A et @z e |
VAN S I
30. TEAM WEMREGRA TSRH TRIfs dremiet @ =1 g |
VAN S I
30. Find the odd figure from the following.
IS VARSI
31. @ frdl Mmm “[1 (21 FRIIICO! MR Terea :
(B) 175 (C) 225 (D) 150
31. fcare Pk cwﬁq@ﬂwﬁ% (ICR (9 FCA
(B) 175 (C) 225 (D) 150
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31. THM WEMNEHRA TSR THEE sHfsmrE aeg’
(B) 175 (C) 225 (D) 150
31. Select the missing number in the given diagrams :
(B) 175 (C) 225 (D) 150
32. o fHaaRs We| fet foqch! Afe Sferea
O @]
) ® | o= © |[==o D) %
32. icex foagler M Rewafe A= bafb @z s :
O @]
) ® | o= © |[=o D) %
32, TERH HETRHR TSRHHME TR JemiE arra =1 3
O (@]
) ® | o= © ||=o D) %
32. Find the odd figure from the following :

O
) ® | o= © ||=o D) %
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33. wo{ furaRa “Ia1 @1 TRl AR Tferea -

6 4 S
(A) 18 (B) 46 (C) 80 (D) 70

33. zws Pagfr (e [ed s fFive e

6 4
8‘12 6A3 7 2

(A) 18 (B) 46 (C) 80 (D) 70
33. THEE FETMRGRE ToHEE MaEE SHSEE e’

6 4 S
SAIQ 6A3 7A2

(A) 18 (B) 46 (C) 80 (D) 70

33. Select the missing number in the given diagrams :

6 4 )
SAIQ 6A3 7A2

(A) 18 (B) 46 (C) 80 (D) 70

34. ﬂﬁ2x3x4:432,5><6><7:765,7><8><9:987, COB2X5XT7T="?
(A) 572 B) 752 (C) 725 (D) 257

34. zrf%2><3><4=432, SX6XT7=765 7x8x9=987, OR(T2Xx5Xx7="7

(A) 572 B) 752 (C) 725 (D) 257
34. §E2x3><4=432, SX6XT7=T765 7x8x9=987, AN 2x5x7="?

(A) 572 (B) 752 (C) 725 (D) 257

34. If 2x3%x4 =432, 5x6Xx7=765 7Tx8x9=987, then 2x5x7="7?
(A) 572 B) 752 (C) 725 (D) 257

EIE
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385. <&l 212 7 ¥4
¢c E G I
6 100 14’ 18 —
P K K K
A — B) — c) — D) —
()22 ()20 ()21 ()22
85. *WE 7f Tl
¢c E G I
6 100 14’ 18 —
P K K
A — B) — c) — D) —
()22 ()20 ()21 ()22
35. e S 37 @™
¢c E G I
6 100 14’ 18 —
P K K
A — B) — c) — D) —
()22 ()20 ()21 ()22
35. Fill in the blank :
¢c E G I
6 100 14’ 18 —
P K K
A — B) — c) — D) —
()22 ()20 ()21 ()22
86. <&l 213 7 T4
_XX_YX_YY_ XY XXY
(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX
86. M 7 Al
_XX_YX_YY XY XXY
(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX
36. W&l SR 77g @Il :
_ XX_YX_YY_ XY XXY
(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX
36. Fill in the blanks :
_ XX_YX_YY_ XY_ XXY
(A) XXXYY (B) YXYXY (C) YYXXY (D) YYYXX
Ok 40|
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37.

37.

37.

37.

<N 972 A7l 1 :

Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory

gl 7ol Al

Doctor : Hospital : : Teacher :
(A) School (B) Field (C) Industry (D) Laboratory
NIGISIRUIRCICEEISIL T

Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory

Fill in the blank :

Doctor : Hospital : : Teacher :

(A) School (B) Field (C) Industry (D) Laboratory

38.

38.

38.

38.

Tft 5789 FMANGR CFe GKPT =0 ¥ 2436 FRIANCGIH 7Fe ALUR =W, (908 24539 FRIAGH
Fe 5399

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

Tft 5789 WG ALFe GKPT 2 @R 2436 MY AWCFe ALUR =W, O 24539 72Ga
RO P 27

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

Sfc 5789 IFNHRT GKPT M ke Sl 3 2436 IARMWMET ALUR ™ @he SR, 3tea 24539
AR AT Hehe ST Y

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

If in a certain code 5789 is written as GKPT and 2436 is written as ALUR, how will 24539
be written in that code?

(A) ALRUT (B) ALGUT (C) ALGTU (D) ALGRT

39.

39.

7% Slferor foZcPan! A= 41, ACS $oF TFACH Wa 2 :

6%4%9x%15
(A) - X, = (B) X, = = (C) =, X, - (D] - =, X
% slifafes Pzef v s, qce 2re Taab ws =

6%4%9x%15
(A) - X, = (B) X, = = (C) =, X, - (D) - = X

EIE
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39. & gEEFRTR fifFfere ara’ STer meE THEgeT W S
6%4 %915
(A) - X, = (B) X, = = (C) = X, - (D) =

39. Select the correct mathematical signs to balance the given expression :
6%4%9%15
(A) - X, = (B) X, = = (C) = X, - (D) =

40. <F OacoE 71 (@l MRACH! AR Therea
A) 2 (B) 11 (C) 4 (D) 18

40. zws P (AP [ed 7RI F=ve e :
A) 2 (B) 11 (C) 4 (D) 18

40. TH HEMRAE MHEE SHESHE g

A) 2 B) 11 (C) 4 (D) 18

40. Select the missing number in the given diagram :

G

C) 4 (D) 18

Ok 40
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41. P FRRR IAE (F32 ARTFT (@F% ' TS ?

(A) TR @1, g (B) et fufz: a1, fetam
(C) e e, fefpRem (D) ®rR e, Wit
41. “TPIN FRIRR G98 FARR ARFFT (% (AR T[S 2
A) TR e, e (B) ~iifey fufes 1, M=emam
(C) e e, fempifen (D) bR e, qfals
41, ‘AEM FATH AR F 2 SFer’ = se=ma g7
A) fer foa, qemife (B) w4 f&fe fore, fomamm
(C) wmR fora, g feran (D) = fore, Afama
41. Where is the ‘Assam Kayaking and Canoeing Training Centre’ located?
(A) Deepor Beel, Guwahati (B) Pani Dihing Beel, Sivasagar
(C) Maguri Beel, Tinsukia (D) Charan Beel, Morigaon

42. SPEF “Sffold e TRIRWIeT 4w ' wEiEe 2

(A) =8e (B) (7@sie

(©) A (D) festa
42. SPICHR “offor] 2 el SRRt b (I w[iEe 2

(A) Tone (B) ¢S

(C) wats (D) form
42, AWM T BRIYTE HEETCHET 3T Jed &7

(A) TmE (B) =T

(C) g (D) e
42. Where is the ‘Police Training College’ in Assam located?

(A) Nagaon (B) Dergaon

(C) Dudhnoi (D) Digboi

43. ‘SR TSR T TEFS ?

(A) o, =P (B) (IG, =i

(C) TG, BEAH (D) <=1, TalcaTe
43. ‘o gl TSR’ H FIAE S[Ee 2

(A) fog, =P (B) olI<Hs, iy

(C) T, BEH (D) CPIf, Msieme

EIE
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43. T SR ST AT 7
A) feg, smam (B) Tiewh, fafen
(C) TS, ToTE (D) HfeHT, ATTITE
43. Where is the ‘Garampani Sanctuary’ located?
(A) Diphu, Assam (B) Gangtok, Sikkim
(C) Junagadh, Gujarat (D) Kohima, Nagaland
44. F OIS Dl ~AfETES R BIce Fh7 @9l Fffee] 2

44,

44.

44,

() et (B) =&

(C) Tl (D) I

P AEGGIICE DI IS BT e FIG721 I GCA R 2

(A) fetq (B) zE«a(

(C) ===Iet (D) SEFIE

AR e G THE AT Sreeri I |t HHEd qEarthaHe ¢

(A)  fed (B) ESREHA

(C) ToomaTed (D) TEREHA

During whose reign did the Chinese pilgrim Hiuen Tsang visit Kamarupa?
(A) Bhutivarman (B) Harjaravarman
(C) Ratnapala (D) Bhaskaravarman

45.

45.

45.

45.

Asian Development Bank-9g SPT{® wQI699cds) *feq 99 Jfa we *fe S THe 99 A

CTRERIGE R ARSIR 49l SRwe S0 2

(A) 432-25 fWfere Te (B) 430-25 fNfere Tt

(C) 443-25 Nfer™ Ta™ (D) 43425 ffer™ wag

R (TCSAACHD ATE TS SPTIY A0 F<IeaIcla *fed el Auice ¥R *fE fqrel e F9ce
F© AR e SECA PCICR 2

(A) 43225 e Ta™ (B) 430-25 ffer™ wag

(C) 443-25 NferE weTR (D) 434-25 R weTm

T EIEETH BIEHSTTE Mard! Jrer! AR el Wiy SieEr st & uiem s st swen
T o TRy gel?

(A) 432-25 Tafim @ (B) 430-25 fafim s

(C) 443-25 Tafim @ (D) 434-25 Tafem s@w

The Asian Development Bank recently approved what amount of loan to increase renewable
energy capacity and improve energy security in the State of Assam?

(A) $ 432-25 million (B) $ 430-25 million
(C) $ 44325 million (D) $ 43425 million

cwt-2025/P-11/ 302-D 292 Sm



46. 1942 Hod ‘TS TJI9 AW © GO (FITSel I 2 (2fee 2
(A) (oM (PR (B) S (w@we
(C) PrE T3 (D) F*E FRT
46. 1942-97 ‘TS T AT -« W (FITSCE FIOT (S FCARE 2
(A) (TR PRE (B) Siam oreq
(C) Trfer F=ma (D) & SRR
46. 1942 UEATEH “YRA TNTR AHTSHRATE 2T TR T- A@! I gFE e
(A) THER iR (B) wfoRm &
(C) foafer porrt (D) FIA IR
46. Who among the following was hanged in the ‘Quit India Movement’ of 19427
(A) Gomdhar Konwar (B) Maniram Dewan
(C) Piyoli Phukan (D) Kushal Konwar
47. SPNE IO (I G (P SI@EIBA ST WCR 2
(A) SO S FILEC (B) SO S IR
(C) BT SE TR (D) TR S B
47. SPICNE A (P 46 CTeE SBEAIgR ST FCACR 2
(A) oM € AT (B) SO € TR
(C) B € TRTIR (D) WRFER S B
47. TEHS 9 T4 TIEET TIeL IS o g7
(A) YeH IR ST (B) M AR FHUR
(C) SARY AW FHAR (D) WFER 3 =
47. Assam has international boundary with which two countries?

(A) Bhutan and Bangladesh (B)

(C) Bangladesh and Myanmar (D)

Bhutan and Myanmar

Myanmar and China
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48. TTq 32 WI-A7(h] SAES (20T
(a) e (B) “IFoaawre
(C) Tfvre (D) wPTS
48. TROIT Jzed Mmi-alfh [
(A) e (B) IFo=ace
(C) Tfewm (D) SPICH
48. WRAf TRE am fean 3
(A) foerm@ (B) @M@ 1 AE
(C) Sfemm= (D) SrEmE
48. The largest river island in India is situated in
(A) Bihar (B) West Bengal
(C) Odisha (D) Assam
49. SPTE GIE FRTSRHCBI (207
(A) IRy TS (B) I TR
(C) CuaeT FeTeH (D) COIBTII7{ TreTefy
49. P G TR 2
(A) wIFEFETS] et (B) W weTefy
(C) R WreTef (D) CRIGTAI%[ T
49. 3TEMH AFEW SIAT ST&l
(A) e S (B) i SRR
(C) =™ SRA (D) Mg SRR
49. The only plateau in Assam is
(A) Deccan Plateau (B) Karbi Plateau
(C) Meghalaya Plateau (D) Chota Nagpur Plateau

50.

50.

Tz ©ifered “F1iE-2-37 ©o (FIFCH! Toe SIS AT BFge)f T 2

(A) *[rEEne @ (B) TGRS AfH

(C) TN G & (D) IR ficarz
g e “Fifm-2-2EE’ Movd (@1 ool S K @ gwge)ef T2
(A) ¥RABT TA (B) WG e

(C) T SR e (D) RN gz
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50. faergfen arferafy ‘wrfern-z-zforen’on memfy s« semge ffsmmty omam = Far?
(A) IRIFETE ITeR (B) SAT=_TGMH TR
(C) WRYHATH IEERH (D) HamRET oA
50. Fathiyyah-i-Ibriyyah of Shihab-ud-din Talish is an important source to know about
(A) the Battle of Saraighat (B) the Treaty of Yandaboo
(C) Mir Jumla’s Expedition (D) Moamoria Rebellion
51. oo AR (IO PR SLAINed I B8 ?
(A) (oo A 2IPMSF (o7 (B) “Rfow
(C) fesfrepr( (D) FR=R
51. e @i SPics wigifes 24w 38 2
(A) (o9 @G3R AFFoF ST (B) 5
(C) fesfrerpr( (D) FRFE
51. MM U@ e g a7
(A) omE IR e e (B) YTETRIEEA™ (Tourism)
(C) TegamE (Manufacturing) (D) AT
51. Which of the following is the main pillar of Assam’s economy?
(A) Oil and Natural Gas (B) Tourism
(C) Manufacturing (D) Agriculture
52. (T b0 P b9 (T8 (LIS AT ol I (2123 2
(A) 1919 (B) 1999
(C) 1991 (D) 1989
52. TIICT SPICH b9 096l CIKAISIRID (I e ble] T 2AMRe 2
(A) 1919 (B) 1999
(C) 1991 (D) 1989
52. EMH Y o erETferd! S8 AEATEAE JHCTRIE TREAAR 7
(A) 1919 (B) 1999
(C) 1991 (D) 1989
52. In which year was the fourth oil refinery of Assam started at Numaligarh?
(A) 1919 (B) 1999
(C) 1991 (D) 1989
53. SPTIS S TRAA (RIE1 GMPPTRiY C2e
(&) 4= (B) 2
(C) W= (D) MG
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53. SPICE 24 TS P 2 el

A) (B) &N

(C) e (D) 1%
53. AEME I fGgsHE wEe e

(A) T3 (B) firg

(C) @ (D) =i
53. The staple food crop of Assam is

(A) rice (B) wheat

(C) pulses (D) jute
54. PN e wEiFe

(A) TEse SIS (B) Toarms “[ze

(C) wfeIFD “M2w (D) @3ART @bre W=7
54. ‘R AVE SRES

(A) TeTbeT “12ICe B) foar e

(C) gD ~rzree (D) 9%feE @3be T
54. THHTEAT Wi AT TS &t

(A) fremEe Bt (B) femmae =i

(C) wforpa g (D) SHRE TFEeT TST
54. The Kamakhya Temple is situated at

(A) Nilachal Hills (B) Chitrachal Hills

(C) Manikuta Hills (D) None of these
55. SN R R Fo(HE (T /12w ?

55.

55.

55.

(A) TEs Ficg (B) e Pz

(C) @ Ficg (D) 2w PRz

SCZN AERECR T FAE (F fRea 2

(A) TS Ficg (B) vewE Pz

(C) *Fwa Picg (D) =we Pz

ATEH TSI STTaT Tiee HILHH 7

() SEeast fag (B) wsheas fag

(©) o= fae (D) s fire

Who was the last Swargadeo of Ahom Dynasty?

(A) Jayadhwaj Singha (B) Chakradhwaj Singha
(C) Purandar Singha (D) Pramatta Singha
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56.

56.

56.

56.

‘T (el I o e 41 C2fRe 2

(A) TSI R (B) TR G

(C) Il F= (D) A SRS
INERES (B) FCePsal AR

(C) =&l T34 (D) @ o3t

R CREIRGCIRASIG LI

(A) SEEfd Fafd TEwETETE (B) Foiwai Falk meraiiEmE
(C) 3frerem Fafth M@ (D) T TEETGH TERTRTE
‘Joy Daul’ was built in the memory of

(A) Joymoti Kunwari (B) Phuleswari Kunwari
(C) Ambika Kunwari (D) Rani Gaidinliu

57.

57.

57.

57.

T f&eTPes (@9 et T91e Torore weiErs 7=y 2
(a) el (B) 2R
(C) = (D) wfReie

il Tfefe (SePees (P (SR I STerR SHEe «F 2

() = (B) ==
(C) = (D) wfRefe
MEEM o« JHE3T s1e g Ser a1?

(A) (B) ETEeTehIi=
(C) =B (D) wfama

Which of the following is not a district of Barak Valley?
(A) Shribhumi (B) Hailakandi
(C) Cachar (D) Morigaon

58.

58.

AT (P EF Fofns FUPRZE SRS SR IETT SFYES Fi(2e] 2

(A) P TTe (B) Tog-==al qren
(C) Tl ATy (D) @3ARA @bre W=7
o Sfefre (@ At | 18 Fofore Fubices aFl SN A SEeS 2R ?
(A) FTT ST (B) ToIpT-F1=Ifs Aren
(C) Tl Arey (D) «ofe GFfbS 7
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58. TEMEM ¢ USSE! Lied TSibed] ATeH TgSiST TRSTIeIgHI ¢
(A) HHAT TES (B) feHTET-FBI TS
(C) el TS (D) HRA A=A TST

58. Which of the following Kingdoms was finally annexed into the Ahom Kingdom by Swargadeo
Rudra Singha?

(A) Kamata Kingdom (B) Dimasa-Kachari Kingdom
(C) Dafala Kingdom (D) None of these

59. SPRE AANSIIF! TfRE I (T OA1f%e 2

(A) CoMI G Bi2sq (B) [coel e
(C) =l ITw7ife (D) =g Yxfe
59. PR A Ff2eT JUHE (& f=eer
(A) CRMI SCARIR COqR (B) o FAEI
(C) el Twifs (D) CT2ql T&fe
59. 3am fifafem smesn fifsr afrn @ra=?
(A) I AR TR (B) geIdl FATEH
(C) Af=Ht Tadfa (D) e ol
59. Who was the first lady Chief Minister of Assam?
(A) Syeda Anwara Taimur (B) Sucheta Kripalani
(C) Nandini Satpathy (D) Mehbooba Mulfti

60. T IEGTETS T WIF poI-pFI filelel TR 1 T2 [l 1 C2few 2
(A) Tefre TuEs Bk (B) =sfcrs 7wq e
(C) Fofers s ez (D) Fofme zire Pig

60. T ACTIFIC 35 «3R HoT-TAFA fohelel I8 I TR-TF” [ 2cafest 2

(A) ofre RS PiE (B) Foftne 7 ez
(C) Fsfene smix iz (D) Fsfcne 7 P2
60. AR G THE @@ 301 IR TR Jba S
(A) TEed SgwaS faw (B) T@riea ot fag
(C) Teriea TeR T (D) Teriea T« fae
60. During whose reign was the Rang Ghar reconstructed using bricks and mortar?
(A) Swargadeo Jayadhwaj Singha (B) Swargadeo Purandar Singha
(C) Swargadeo Gadadhar Singha (D) Swargadeo Pramatta Singha
EE
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61.

61.

61.

61.

et 2s (FRCHT @b1 FifEa o 7= 2

(A) =l (B) fafermy
(©) (D) =eGce
foca Tferfre (s M suet 7 2

(A) st (B) feform
(C) form (D) RS
e I8 W8T SRS 79 (inert gas) TST?

(A) 3 (B) Teferam
(©) Fm (D) e
Which of the following is not an inert gas?

(A) Argon (B) Helium
(C) Neon (D) Nitrogen

62. 1894 bo TP P (@2 (P I12® A4 C2fee 2

(A) =7F (B) TWIeg

(C) “==FH (D) coRmTSfel
62. 1894 (a1 SPIIGH FIF [RCUI2 (FIA FICa TR 2Cafes 2

(&) T=7E (B) =

(C) “N=FEs (D) cofFaTSfer
62. 1894 HEUTEH ATEM METETR TRAGHMET &1 SATEHH?

(A) TTEL (B) =TT

(C) et (D) efrgfer
62. The Peasant Uprising of Assam in 1894 took place at

(A) Gohpur (B) Yandaboo

(C) Patharughat (D) Dhekiajuli
63. 79 w2, . 5. T20 RpeFI7l, 2024 @ P (VT Z[THQ A FAREA 2

63.

63.

(A) TFHR I (B) Gfes @’%

(C) Ei2e TR (D) 3R q&€ T2

oRFICR B, B1. B1. T20 Resiol, 2024-9 @ TR (FERICEA 7R fErefeeer 2
(&) SRR A3 (B) e o

(C) wPifere El (D) U (Y3 T

AR ICC T20 World Cup, 2024 3d ¥R HEE TANNA St T ?
(A) FIFAR AET (B) fim Te

(C) wEE goe (D) foraRts |t Tt

EIE
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63. Who won the best player award in the ICC Men’s T20 World Cup, 20247
(A) Suryakumar Yadav (B) Travis Head
(C) Jasprit Bumrah (D) None of them
64. 2034 b9 RFwel foesiel 79 SEoe 279 2
(A) o3 (B) Ot =194
(C) <FHIrel (D) «2ERRA @A T
64. 2034 R el a1l (IR TP BT 2
(A) o (B) T <5<
(C) Tl (D) «gfe) @Fehe a7
64. 2034 T FIFA 3¢ M1 S99 S ?
(A) T (B) ifg e
(C) MR (D) SHRA A=A TST
64. Where will the 2034 FIFA World Cup be held?
(A) Spain (B) Saudi Arabia
(C) Canada (D) None of these
65. (I (Meel ‘(BT RmiPe-6" (9=, @¥.-6) eI Bafee 2

65.

65.

65.

(A) SR (B) SI°[
(C) ©F (D) B

TS fiTEe-6 (W91, @9.-6) (I O TBIRE AT ?

(A) SR (B) &7
(C) ©=e (D) B

Standard Missile-6 (SM-6) @I o1& FT& fegTamH ¢

(A) TR (B) STUH
(C) ¥ra (D) fe

Standard Missile-6 (SM-6) was developed by which country?
(A) USA (B) Japan
(C) India (D) China

66.

191, @9, “IChe] (I TR =7 DR 1 (202 2
(A) o e SEEr

(B) o S AR > TeT

(C) AN TR S IR TGER

(D) 52 forsfiel == w99 2lifeael Tger
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66. 4N -7A% (167 (PM-SURAJ Portal) (S @A @[ AR F41 27 2
(A) 2y e Sger
(B) o G AP *If& T[T
(C) STEGF TR G- AT TFET
(D) 92 Tyl @32 917 21fpael TEer

66. PM-SURAJ Portal 311 & Ministry Sl STgISITEl?
(A) Ministry of Rural Development
(B) Ministry of New and Renewable Energy
(C) Ministry of Social Justice and Empowerment

(D) Ministry of Housing and Urban Affairs

66. PM-SURAJ Portal is implemented by which Ministry?
(A) The Ministry of Rural Development
(B) The Ministry of New and Renewable Energy
(C) The Ministry of Social Justice and Empowerment
(D) The Ministry of Housing and Urban Affairs

67. 2024 51 3. 9. 97, AfSEfarers @I “SE@e @ e e ?
(A) =TS = (B) &0 e
(€) iz P (D) TR Gl 72

67. 2024 e[ 3. . «o1. Afeien & “wiEg T’ oo e ?

A) s == (B) &0 =M

(C) fog P (D) <o T
67. TR MA@ IPL, 2024 T4 ‘Orange Cap’ @ SERHA?

(A) 3Tl ymf (B) forre wigett

€ Rz fa (D) Tordnfy ardat T=

67. Which player won the Orange Cap in IPL, 2024?

(A) Abhishek Sharma (B) Virat Kohli
(C) Rinku Singh (D) None of them

EIE
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68. 2025-2026F (FI7 4% AHZS(F (@R ACHH SH FS FEACR 2

(A) i (B) &y e
(C) oo™ @@ (D) e

68. (I 4TS 2025-2026 AR MHFT ACSCo TACACE (@ ¥ 41 T 200 2
(A) e (B) &y e
(C) SRR @& (D) =lfez=w

68. T WK (Sector) 2025-2026 H Sied FAMEE SN STEFI HIGI ¢
(A) @reieTE (B) T STRIE™
(C) el ¥t (D) ey

68. Which sector has received the highest allocation in the Budget for 2025-2026?
(A) Education (B) Rural Development
(C) Indian Railways (D) Defence

69. TS JEI (AP I I I 2

(A) fesa ffeg (B) $CoH AW

(C) TS AP Iy (D) To 4b. THHF]
69. SRCSF I *RAG-0F I3 F 2

(A) fcad ffeg (B) TR AWA

(C) AR AT Treg] (D) T. 9. TE]

69. WRA[ a4 External Affairs Minister 311 H1?

(a) fortor RSy (B) I F1ea

(C) STTd JehTeT ATET (D) To THo S

69. Who is the current External Affairs Minister of India?
(A) Kiren Rijiju (B) Bhupender Yadav
(C) Jagat Prakash Nadda (D) Dr. S. Jaishankar

70. Z-Morh &% (CTAIsf 3%)7 e werq Se@™ [Keawa 41
1. 3 (ofewet I e bl O |
2. 65 km 9@ O] G- PrAE AT S G ST AS PR |
3. %I National Highway Authority of India-3 SERYS 3 |

O (FICOI/ (FFER Bfe 0% 2
A) @G 1 IF 2 (B) &G 1
(C) @G 2 o< 3 (D) FIeTg 2
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70. Z-Morh % (GRS 5[o%)-49 facy Teva Sfeesf feap e -
1. «fb corferet Toe aocem qPis =i |
2. 65 km T U & GI2 FIACTA A9 QR TN SHAE IS FCACR |
3. 3%l National Highway Authority of India-9 OgIKYICIq IFofS |
NEa @ e /Sl 7w 2
(A) (FETEE 1 9R 2 (B) (NG 1
(C) (@FITIE 2 €} 3 (D) (PG 2
70. Z-Morh ZHA (TR 2HA) & A1 ™ e fagfomdt Tism & -
1. o9 SISl 2He ISR w9 STEr |
2. 65 fRo fio e & ZHe SH TR HITHRTE TAAR TR | M STHCE! BETSTE] |
3. w9 TSideE! ARGl YA g5 HAANE 3% 3i<am |

TrSirere B e ferggfor/ fergformrr 17
(A) 13 2 A (B) 1 3
(C) 2 IR 3 3T’ (D) 2 3T

70. Consider the following statements regarding the Z-Morh Tunnel (Sonamarg Tunnel) :
1. It is a part of Zojila Tunnel Project.

2. The 65 km long tunnel connects Gagangir and Sonamarg region in Jammu and
Kashmir.

3. The project comes under the supervision of the National Highways Authority of India.
Which of the statements given above is/are correct?

(A) 1 and 2 only B) 1 only
(C) 2 and 3 only (D) 2 only

71. O 2 . 3. (Al) [ FEL 2

(A) FEIl (B) =ICaR

(© Fr& (D) (AP
71. SRCSA 229 9@, H3. (Al) TF @ 2

(A) FE[l (B) =ICaR

(©) fra (D) e
71. TERH S WRAH ffs AL wet?

(A) hedehldl (B) ©@T3

) e (D) Sege
71. Which of the following is the first Al city in India?

(A) Kolkata (B) Lucknow

(C) Delhi (D) Bengaluru

EIE
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72. ‘@IFEEs+’ (Copilot+) I4ToE, T'T Al-2feq @@l S+ ‘MPe (Recall) IR AR SR,

DI 2R @ qaiefes 2
(A)  GETFICID (B) @@
(C) @v= (D) EE'BEH

72. @R & @A 9. TR (Al)-Tme FRERE @R S AFERE (Recall) @RERS
‘@17I2eT5+ (Copilot+) F#THR Ble] FCACR ?

(A)  SUETFICID (B) =WICelst
(C) @™ (D) ZCFPIES
72. ‘Copilot+ HFZER, SE Al-3TEaH TSRS Tg7 Recall’ TETH @Y 3, S d« FHPAI-AT SHEGE 7
(A) TAHTSE (B) MU
(C) wHR (D) WIS %

72. Which tech company has launched ‘Copilot+’ PCs with Al-enhanced functionality and
a unique ‘Recall’ feature?

(A) Alphabet (B) Apple
(C) Acer (D) Microsoft

73. Tl TR (TI5aA! 97T 1), 2024 (FIC TS B 2

(A) T T (B) T Crd

(C) T (D) To #ffefr (vdt <5
73. T SEE (220 (T FFE), 2024 (F S FARCE 2

(A) T TS (B) T A

(©) T (D) ©. “fféfan o =
73. WX Green Oscar (Whitley Gold &), 2024 @l STEEHM?

(A) T PR (B) oo &=

(C) Forgf (D) <o gfofer asht =
73. Who received the Green Oscar (Whitley Gold Award), 2024?

(A) Raman Sukumar (B) Brindha Devi

(C) Krishnamoorthy (D) Dr. Purnima Devi Barman

74. (T AR PRy 7[fE aiferawm, 2024 25 lafRe 2

(A) WHO (B) UNICEF

(C) UNDP (D) World Bank
74. @ RED By 7B Afe@we, 2024 2 FRMRS 2

(A) WHO (B) UNICEF

(C) UNDP (D) World Bank
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74. 99 MYAT Child Nutrition Report, 2024 @ STl HIATIE! ¢
(A) WHO (B) UNICEF
(C) UNDP (D) World Bank

74. Which organization released the Child Nutrition Report, 2024?
(A) WHO (B) UNICEF
(C) UNDP (D) World Bank

75. P4 W RO I, 20247 WO 18097 (7 fooTe S Fie H1 2

(A) 159 (B) 152 (C) 150 (D) 161

75. P4 S1am FETO! oFIE, 2024 SEEA 1806 (O e SRCS Tl T 2
(A) 159 (B) 152 (C) 150 (D) 161
75. World Press Freedom Index, 2024 3@, 180 SETHRN HIGTE HRA HIG@T HI?

(A) 159 (B) 152 (C) 150 (D) 161

75. In the World Press Freedom Index, 2024, what is India’s rank among 180 countries?

(A) 159 (B) 152 (C) 150 (D) 161

76. ‘TIOR (FOR AGOTS] WP (Few] 21T F1 27 ?
(A) 9 (B) €T 7
(C) T@F S5 (D) <859 3

76. “TOR FIAG FOOTS! [ FC AT T = 2

(A) =CeFF 9 (B) «CeF9 7

(C) =CeFd 5 (D) «Ce%d 3
76. “HER HEI T @ e Biierl ?

(A) 9 TR (B) 7 T&wR

(C) 5 TR (D) 3 JeTR
76. When is ‘National Cancer Awareness Day’ observed?

(A) November 9 (B) November 7

(C) November 5 (D) November 3
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77. 2fs TRE ‘(@ARE (@ (Jonbeel Mela) (Pl fEeire SR 23 2
(A) wfeie (B) <=
(C) foam (D) ¢oleE
77. @Al =T (HFARE @Ol (P SR SRS 2 ?
(A) TRals (B)
() foar (D) CAIETEIG
77. SETHHE A HA' (Jonbeel Mela) @t AT femma gg-mr s ?
(A) wiama (B) TRl
() femi (D) AT
77. In which of the following districts is the ‘Jonbeel Mela’ held every year?
(A) Morigaon (B) Baksa
(C) Chirang (D) Golaghat
78. ‘fE i (Ffex TR F41 29 2
(A) 25 GRS (B) 21 (T®
(C) 17 SRR (D) 14 TET
78. ‘Mg a” @ Trfere =3 2
(A) 2501 SRl (B) 217
(C) 172 &Rl (D) 143 o7
78. ‘faredt fem@ '@ ursen wifeH T S
(A) 25 STaREE (B) 21 ¥4
(C) 17 SFaRETE (D) 14 vl
78. ‘Silpi Divas’ is celebrated on
(A) 25th January (B) 21st May
(C) 17th January (D) 14th November
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79.

79.

79.

79.

T e TR (B 7 4TS 2
(A) @I (B)

(C) weiree (D)

‘o7 e AeerEE b (@A S[hES 2

(A) =72 (S (B)
(C) =ee-9 (D)
‘ST BTETST QFYHHT A1 WIS &7

() TETETR (B)
(C) == (D)

Where is the ‘Assam State Museum’ located?
(A) Guwahati (B)

(C) Nagaon (D)

PrTee

IREHIRS

Sivasagar

Jorhat

80.

80.

80.

80.

ASTC-3 5 2’7
(A) SR (35 G FCoficas (B)
(C) == (8% GHA'S FCficasa (D)

ASTC-«3 =1¢f ZgaT

(A) TIPS OO (GER S (B)
(C) TIPTS5 GITCelh FCofcae (D)
ASTC 7 =fiform siret

(A) 3TE W2 e e (B)
(C) MM T2 TH9S FNE (D)

ASTC stands for

(A) Assam State Trading Corporation (B)

(C) Assam State Transport Corporation (D)

SR (Bh (O &1 & FIbe

SR (B (Greel FCefican

PN (05 (GFCIEAS Frapie
SPI (66 FICes S

AT T A st S E
ITEM T2 9 TG

Assam State Technology Commission

Assam State Travel Corporation
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81. 7 x+ L= 72, (3B x> + L qume
X x2
(A) 49 (B) 40 (C) 42 (D) 47
81. A x+ L = 7 2, O@ x> +i2—aﬂﬁwm
X X
(A) 49 (B) 40 (C) 42 (D) 47
81. ﬂﬁ’ x+i=73lT€ﬁ, el x 2 +%ﬁm¢narh:r
X X
(A) 49 (B) 40 (C) 42 (D) 47
1 0 1 .
81. If x+— =7, then x“ +— is equal to
P x2
(A) 49 (B) 40 (C) 42 (D) 47
82. 19 %[l 25 (31T FIN< S FRACAINT T (202
(A) 325 (B) 200 (C) 169 (D) 89
82. 1 (ACF 25 *RfG GG A TG (9T 2o
(A) 325 (B) 200 (C) 169 (D) 89
82. 1 fwm 25 fam omm s wifk st greerméEn Set
(A) 325 (B) 200 (C) 169 (D) 89
82. The sum of the odd consecutive numbers from 1 to 25 is
(A) 325 (B) 200 (C) 169 (D) 89
83. o9 TfeIT2d (FIICHI Tfe wa Teq 2
(A)  ATSTH! A (3TISF) FR45B. @BT Frelfa 72e |
(B) HHIZS(SF 7 FrelfF JRANCTI 279 1.
(C) O @bl 7Jef 1.4 |
(D) 2fSChl FrelfTe RS GBI I 47 |
83. I(va Sfeglem e (@ TfEh wa w2

(A) =ffS I () TR GFfG FreR AR
(B) “Fue¥ FrelP ARG 2eetl 1.

(C) 0 9 =f 1yl |

(D) =Sl Freifa® M2 «FH I 747 |
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83. TEEM FIURRM TowE 9 iw e T=T?
(A) HHIY ST (Positive) 3Tf-mmn faferm srafsmn
(B) safRgs gafaa fferm smfswmn 1.
(C) O 3T HHH 311g 3R
(D) =W THfsem emfsmmer s’ smfvmn|
83. Which one of the following statements is not true?
(A) Each even (positive) number is a natural number.
(B) The smallest natural number is 1.
(C) O is a whole number.
(D) Each natural number is an even number.
84. M @bl T To7 200 53 = AF (F2/2 10% =, (S0 TR A 223 q A9 4o 71 277
(A) 90 B (B) 190 5=
(C) 80 B (D) 180 B!
84. M I I WN 200 BF W 4R ©F TAF 10% RT ACF, OB IEL TS (FolF F© 7 s
2[?
(A) 90 Bl (B) 190 B
(C) 80 B (D) 180 Bl
84. ¢ WY FATH ST 200 T SR 3R 10% & SR, AT AW SREET H1 M1 ST ST
(A) 90T (B) 190 T
(C) 80T (D) 180 T
84. If the price of an article is ¥ 200 and the rebate on it is 10%, then the customer has to pay
for this article
A) T 90 (B) ¥ 190
(C) ¥ 80 (D) ¥ 180
85. M 460 B W 10 &= 77, 16 o< A2l SF 200! Fraq qere e ©ls o e, (98 aAres
CoTRTT SRX Il 2°]
(A) 10 5=l (B) 16 Bl
(C) 20 B (D) 46 B
85. M SWMA 460 b7 10 & 7, 16 & W2ell @R 20 Freq o sm ©iesl ©ie | e, o
2T OIS F© GIPI SAPICE ?
(A) 10 Brp (B) 16 BrFl
(C) 20 B (D) 46 Il
85. ¢ &t @1 10 e AEf, W 16 feawma @@l W w1 20 U UEE 460 TE WEM THAT BT,

A s foeret sme
(A) 101 B) 16T
(©) 201 (D) 46 T

cwT-2025/P-11/ 302-D 39 BEGE [ P.T.O.



85. If we divide ¥ 460 among 10 men, 16 women and 20 children equally, then the share of
each one will be

(A) ¥ 10 B) ¥ 16
(C) ¥ 20 (D) T 46

86. M 22*+! +4 =87y, (T(B x I T 2]

(A) 1 B) 2 (€ 3 (D) 4
86. I 22%*! £ 4 = 837, OI2CA x-9F I 2@

(A) 1 (B) 2 € 3 (D) 4
86. Sisan 22Xt L4 = g SN, sl x T WA SAWTA

(A) 1 B) 2 (C) 3 (D) 4

86. If 22X*1 .4 = 8 then the value of x is
A 1 B) 2 € 3 (D) 4

87. &Y (FICHI AMfifes T g 2

9 3 S 3 7 5 3 9
@) -—>— B 2<> © <2 D) 2=~
40 20 8 4 6 6 7 28
87. A @ anfifes TFEH o7 2
9 3 5 3 7 5 3 9
@ -—> B 2<> © —<> D) 2=
40 20 8 4 6 6 7 28
87. TR Fe WY Ar@Er-af fegfomm om?
9 3 S 3 7 5 3 9
A - > B ><> © —<2 DO 2=~
40 20 8 4 6 6 7 28
87. Which of the following mathematical statements is correct?
9 3 5 3 7 5 3 9
@ -—> B 2<> © ~<2 D) 2=
40 20 8 4 6 6 7 28
88. @TWW{W%W%HN\EW 2’q, Tz
(A) a+b=c+d (B) axb=cxd (C) axd=bxc (D) a+d=b+c
88. iﬁwﬁzﬂﬂmﬂﬁgsgw—w TR BCF, T4
(A) a+b=c+d (B) axb=cxd (C) axd=bxc (D) a+d=b+c
88. ﬁﬁmﬁawmﬁm%aﬂﬁgaﬂwwﬁq,w
(A) a+b=c+d (B) axb=cxd (C) axd=bxc (D) a+d=b+c
88. Two rational numbers % and 2 are equivalent if
(A) a+b=c+d B) axb=cxd (C) axd=bxc (D) a+d=b+c
EE
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89. IM b fapem oy Tafeq 7o o< Tafeq I 2x 999 =, (908 fqgetR Fif 2’7
(A) 8x? 3o 455 (B) 2x?2 39f «F%
(C) x? 35 @3 (D) 4x? 35f 43
89. I «fb fagrem o oF Tafen fagd «3: Tafen WM 2x ¥3% =, or=eE fageia (Fawe 2@
(A) 8x?2 3of @5 (B) 2x? 35f @55
(C) x? 75 a9 (D) 4x2 35f a5
89. W AWM S SRETE SIAEH § | Sieell SHmEMH AT 2x HHRE S, 3Tl SAET-2rem =
SHTferaT ST
(A) 8x?2 =nf wrfe (B) 2x2 =t ¥fe
(C) x? =i wHfe (D) 4x? =i gl
89. If the base of a triangle is twice its altitude and the altitude is 2x unit, then the area of the
triangle is
(A) 8x? sq. unit (B) 2x? sq. unit
(©) x? sq. unit (D) 4x? sq. unit
90. T« (FICHI GbI fagerd fof bl 12q (1Y 277 ¢RI 2
(A) 5 c=sfis, 10 =efis, 6 crsfis (B) 14 (=sfs, 7 (=efis, 8 cmafis
(C) 10 =sf¥s, 20 @af¥e, 8 (=afils (D) 30 (=sf¥s, 20 c=sfie, 12 c=sfis
90. Sitvx @I I Glb fageea foafb e M7 2ce #iiea =1t 2
(A) 5 eiefie, 10 oiefie, 6 Gsfe (B) 14 ¢Tefz, 7 orefie, 8 isfye
(C) 10 Grefig, 20 @rsfe, 8 isfis (D) 30 @iefis, 20 @isfie, 12 Tafe
90. TEEM & HHUAT Y AT FHam™ Jarf-afy swar Sy grn?
(A) 5 Wo o, 10 Wo flio, 6 To o B) 14 "o fo, 7 Wo o, 8 To fHo
(C) 10 o o, 20 Fo fiHo, 8 Wo fio (D) 30 o o, 20 Fo fifo, 12 Wo firo
90. Which of the following cannot be the measures of three sides of a triangle?
(A) Scm, 10 cm, 6 cm (B) 14cm, 7cm, 8 cm
() 10 cm, 20 cm, 8 cm (D) 30 cm, 20 cm, 12 cm
91. “‘YbI T YA FRYE @IFe 48.”7 2 TFSCHI 2™ IR #[1 FANFID] 23
(A) (x+D+(x+2 =48 B) x+(x+1) =48
(C) x+(x+2 =48 (D) (x-1)+(x-2 =48
91. “‘qib T YA FRYE @IFe 271 48.”" &2 TFEH Tbq (FIF FRFAC 2T 205 2
(A) (x+D)+(x+2)=48 B) x+(x+1)=48
(C) x+(x+2 =48 (D) (x-1)+(x-2 =48

EIE
cwT-2025/P-11/ 302-D 41 %%; [ P.T.O.



91. “‘HIFA BN SR AR arseerea 48, o fogfonat BRATH SHE ST STat
(A) (x+D+(x+2) =48 B) x+(x+1)=48
(C) x+(x+2) =48 D) x-D)+(x—-2)=48
91. “The sum of two consecutive odd numbers is 48.” This statement can be expressed in
equation as
(A) (x+D)+(x+2)=48 B) x+(x+1)=48
(C) x+(x+2) =48 D) (x-D)+(x—-2)=48

92. X-I[F HF y+2=0 (YR eq 790G [F 2
(A) 2 @3 (B) 3 &5
(C) 4 <53 (D) 1 <5

92. x-I%F &R y+2=0 @I T 779 F© ?

A) 2 93 B) 3 9P
C) 4 9= D) 1 9
92. x-fa’ oM y+2 =0 TEEH ToRA JTHUTE FTT?
(&) 2 @ (B) 3 @M
(C) 4 wmie (D) 1 \FR
92. What is the distance between the x-axis and the line y+2=07?
(A) 2 units (B) 3 units
(C) 4 units (D) 1 unit

93. 1289 T #9C & TSN IR (N9 FIRCE 2 BT 7Jofqof 7= =77 2

(a) 1 B) 7 (C) 13 (D) 16
93. 1289-9¥ et FH (T IR 9 Fca1 b @M jofaef 1Ry 29 2

(a) 1 B) 7 (C) 13 (D) 16
93. 1289 S AT GATHA IHISHI ISTalect Wi 3Tg a1 SFTH?

(Aa) 1 B) 7 (C) 13 (D) 16

93. What is the minimum number to be added to 1289 so that it becomes a perfect square?
A 1 B) 7 (C) 13 (D) 16

94. <51 AR BN WF THOR WK FC 5 cm WA 3 cm. ANIRPCER el e |

(A) 30 cm? (B) 15 cm?
(C) 7'5 cm? (D) 15 cm
94. 4316 R PR 992 THO! T 5 cm GR 3 cm. MNP (Tl fF1of Tl |
(A) 30 cm? B) 15 cm?
(C) 7'5 cm? (D) 15 cm
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94, T femTasemsy g I S M B 5 cm 3R 3 cm. forTesae Fifer fag |
(A) 30 cm? (B) 15 cm?
(C) 75 cm? (D) 15 cm

94. The base and height of a parallelogram are 5 cm and 3 cm respectively. Find the area of
the parallelogram.

(A) 30 cm? (B) 15 cm?
(C) 7'5 cm? (D) 15 cm

95. T2 10% 96 OF 2O (¢ oL [P =TS 739 277 2
(A) 2 T=TS (B) 5 q=T°
(C) 10 =J9 (D) 20 =T

95. JICIEF 10% o1 0 FCH (FICAN GF e F© qReq @9 203 2

(A) 2 3% B) S5 <=E
(C) 10 =" (D) 20 =™
95. FERE 10% Tl Yo TRE Ai-g fiifd SreHT s8el SErd B STE ¢
(A) 2 SHERE (B) 5 IR
(C) 10 = (D) 20 SR
95. In how many years will a sum of money be doubled itself at a simple interest of 10% p.a.?
(A) 2 years (B) S years
(C) 10 years (D) 20 years

96. A IF B @ @ 10,000 5F1 SF 6,400 5 T GBI LMW <07 W_S FE¢e | 5 29 orze A @
3,000 51 TIB &' WF B (@ (©€] WHF 79 AE 600 5 @6 e | B @ G wigimE f2uicel
e #MeT 10% (T 1261071 3 T | G9%IT J9© Yo #1® 16,000 51 2'¢51 BT wro o 2742

(A) 6,480 51 (B) 7,920 51
(C) 8,080 Bl (D) «3ERT @bre T2

96. A Y3} B IUGE 10,000 HIF @R 6,400 Gl M o SRR I3 WF F¢@ | 5 TR 2K A
3,000 Rl $¢31 (R @R B fecem [ Srice =icE 600 S @il a1 B e SAme 2T
JIF ST 10% (@1 BETE AW | GF K 2[F (16 &S 16,000 Bl 2081 B-9F FThR* F© 2(4 2

(A) 6,480 B (B) 7,920 BrF

(C) 8,080 Bl (D) «sfE @3he T
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96.

96.

A W B 3 %A 10,000 T AW 6,400 T M TFH SEENEIN BIATH SMESHaE | 5 M 39
A 3T 3,000 T SEHET ™ AR B 3 MEM SEFlS TR 600 T SEE | B 311 HEgal Swermim
TR SR AR 10% ST Hel W | SERA 39 T JAwsET 16,000 T SEsar, B

AT STETTT S8 S ?
(A) 6,480 T (B) 7,920 T
(C) 8,080 (D) SHRA HHEE! T2

A and B started a partnership business investing ¥ 10,000 and ¥ 6,400 respectively. After
5 months, A withdrew ¥ 3,000 and B added ¥ 600 to their investment. Being active partner,
B gets 10% of the annual profit as salary. If the profit at the end of one year is ¥ 16,000,
the share of profit of B will be

(A) ¥6,480 (B) ¥7,920
(C) ¥8,080 (D) None of these
97. I+ fefg 41
2 1 2
3-(-3)+(=3)
11 11 17 17
A B - © 5 D) -
97. W ffg I -
2 1 2
3-(-3)+(=3)
11 11 17 17
(A) 5 (B) 5 (©) > (D) Y
97. WH fogd :
2 1 2
3-(-3)+(=3)
11 11 17 17
A B - © 5 D) -
97. Find the value of

)

11 11 17 17
A) — B) - — c -~ D) -~
(A) 5 (B) 5 (C) 5 (D) 9
98. &Y MANCHIGN NI ofT 7
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
98. e TRl T @ @ -
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42
[Ofai 40
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98.

98.

TREM SARNHTERA TSRAT (Median) fogT :
32, 32, 34, 35, 35, 38, 42
(A) 32 B) 38 (C) 35 (D) 42
Find the median of the following numbers :
32, 32, 34, 35, 35, 38, 42
(A) 32 (B) 38 (C) 35 (D) 42

99.

99.

99.

99.

o549 TR 10% 5agia e 100 531 2 879 99 o A1 23000

A) 121 5= (B) 221 53

(C) 11121 5l (D) 121-21 5

100 BIF1 2 IR IR 10% beargfan B M 2ga (W16 e e 2/ 2cq
A) 121 = (B) 221 b=l

(C) 11121 5= (D) 121-21 B
FERE 10% FRE 100 UH FER 2 T SREemem ga1 SmH

(A) 121 T (B) 221 T

(C) 11121 T (D) 12121 T

The amount on compound interest of ¥ 100 for 2 years at the rate of 10% per annum is
A) T121 B) T221
(C) T111-21 (D) T121-21

100.

100.

100.

100.

IW p AF gF AT, AF AALY. INGFE r TF s =W, (B p, g r AF sT AALYG. (AR
(p, q& FTeIfR 7T)

(A) pg (B) gr (C) sp (D) s

p R g9aF AALY. GR TG, IAGFC r GR s 2, p, g r 9R s € ALY, 2@ (p, ge TORF
FRYT)
(A) pq B) qgr (C) sp D) s

p I g Fo Ao o AR Fo 3o FTo 3T BRI r AR s FTART, p, g r I s Fo 3o 370 31
STH ( p, g € Tafsem emfsmr) ?

(A) pq B) qgr (C) sp (D) s

If the HCF and LCM of p and g are r and s respectively, then the LCM of p, g r and s is
(p, g€ natural numbers)

(A) pg (B) ar (C) sp (D) s
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